Efficiency vs Dxy(PV)

S O.S:
(S
= 07f
ks E
4 F
> 0.6F
> E
) E
= E
2 0.5
L F
E=S

9]

0.4F
0.3F

0.2F

98)5-20-15-10 -5 0 15 20 25
TP dxy(PV) (cm)

—=— DQM_ttharPU_mkFit_5iter

—e— DQM_tthbarPU_mkFit_5iter_updatedPR111_update

I Efficienc] —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation

< 0.8

o
3

0.5 -

efficiency vs dxy(PV.
o
[o2]

P U SRS UL RN o 1S SO S I

Ratio

LT
i3

TP dxy(PV) '(cm)

Efficiency vs Dz(PV)

o
)

o
~
TrrTT

o

)
M LAY

g

o
o1
T

efficiency vs dz(PV)

o
IS
T

Ratio
[

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

o
0

o
3

o
o

o o
D Ul

efficiency vs dz(PV)

o
w

o
)
Ty

o +0 ;

2 : !

g : w
0 1

o
i
T
—— . .

0.5
TP dz(PV) (cm)



	Contents
	Page 1


